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ERHHE: http:

120. 133. 26. 47:15001/v1/send

iR k: contentType=’

g3k 77 3: post
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appliction/json ;charset=utf-8”

=
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Appkey = string KL JF v — AR R
Json ={"oc1Token": "4 "},
DataContent = string AES 7o 55 A~ Key = MessageSecret
AES (json, key)
& 4 MessageSecret string sign=Appkey+TimeStamp+MessageSecret+Nonce;
Signature = string | :~; o
ARPRAWENER | ya5(sign) (k] “+” WETEE
L H) UTC A 8]~ (1970-01-01 00: 00: 00) & [4] 4] [% %% ¥ 4 £
TimeStamp = string | UTC B |8 B A% #4 20 &)
B TR
Nonce 2 string UUID ] LLGE ] guidid+at B B

1.2 R IHIE EME operatorType: FHIEEH CT {5, CUBE, CM B

"errorCode":null,

"phoneNum": "15754851326",
"operatorType": "CM"

" "
success :true,

"result":

"errorMsg":null,

1.3 K& EE

{
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"status":false,
"message": "SignatureError",

"body":null
}

1.4 i34

1.5 AES jmfg %

IV="DEVICE-AES000000”

/ k%
* fm i
*/
public static string Encrypt(string toEncrypt, string key, string iv)
{
bytel[] keyArray = UTF8Encoding. UTFS. GetBytes (key) ;
bytel] ivArray = UTF8Encoding. UTFS. GetBytes (iv);
bytel] toEncryptArray = UTF8Encoding. UTFS. GetBytes (toEncrypt) ;
Ri jndaelManaged rDel = new RijndaelManaged();
rDel. Key = keyArray;
rDel. IV = ivArray;
rDel. Mode = CipherMode. CBC;
rDel. Padding = PaddingMode. PKCS7;
ICryptoTransform cTransform = rDel. CreateEncryptor ();
bytel[] resultArray = cTransform. TransformFinalBlock (toEncryptArray,
toEncryptArray. Length) ;
return Convert. ToBase64String (resultArray, 0, resultArray.Length);
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*
*/
public static string Decrypt (string toDecrypt, string key, string iv)

{

B

bytel[] keyArray = UTF8Encoding. UTF8. GetBytes (key) ;

byte[] ivArray = UTF8Encoding. UTFS. GetBytes (iv);

bytel] toEncryptArray = Convert. FromBase64String (toDecrypt);

Ri jndaeIManaged rDel = new RijndaelManaged();

rDel. Key = keyArray;

rDel. IV = ivArray;

rDel. Mode = CipherMode. CBC;

rDel. Padding = PaddingMode. PKCS7;

ICryptoTransform cTransform = rDel. CreateDecryptor();

bytel] resul tArray = cTransform. TransformFinalBlock (toEncryptArray,
toEncryptArray. Length) ;

return UTF8Encoding. UTFS. GetString (resul tArray) ;
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